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Biology/A'

1. Storageproduct of algae is :

(A) Glycogen (B) Fat

(C)" Cellulose (D) Proteins

2. Chloroplasts ofUlothrix are:

(A) Branched (B) Girdle -:shaped

(C) Brick shaped (D) Unbranched

3. Plasmodium is found in :

(A) Myxomycetes (B) Basidiomycetes

(C) Chytridiomycetes (D) Oomycetes

4. Black rust of wheat is caused by:

(A) Puccinia graminis tritici (B) A/bugo Candida

(C) Usti/ago tritici (D) Anguina tritici

5. Dolipore septum is present in :

(A) Oomycota (B) Basidiomycota

(C) Myxomycota (D) Plasmodiophoromycota,

6. Bacteria with flagella all around the.periphery of cell is called:

(A) Peritrichous (B) Monotrichous

(C) Lophotrichous (D) Amphitrichous

7. The outer most sheath of TMV is termed as :

(A) Plasmid (B) VIrion

(C) Capsid (D) Peplomeres

8. Storage zone of Marchantia is devoid of:

(A) Oilcell (B) Starchgrains

(C) Nostoc (D) Reticulatethickening

9. Elaters are present in capsule of:

(A) Riccia (B) Marchantia

(C) Anthoceros (0) Funaria

10. Trabeculae in Se/aginellarepresents modified:

(A) Endodermalcells (B) Pericyclecells

(C) Innercorticalcells (D) Phloemcells

11. Sexorgans in Pteridophytes are:

(A) UnicellularandJacketed (B) Multicellular andnonJacketed

(C) Multicellular andjacketed (D) Unicellular andnonJacketed.

12. Root system in fern is :

(A) Primaryandbranched (B) Primaryandunbrached

(C) Primaryandadventitiousroot (D) Adventitiousroots
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13. Which of the following is not present in leaf of Slaginella ?

(A) Xylem (B) Phloem

(C) Palisadeparenchyma (D) Stomata

14. Neck canal cells are absent in the archegonium of:

(A) Dryopteris (B) Cycas

(C) Funaria (D) Sphagnum

15. Vascular bundles in Cycasare:

(A) Conjoint, collateralandclosed (B) Conjoint,collateral andopen

(C) Conjoint,bicollateralandopen (D) Conjoint,bicollateral andclosed

16. A membranous layer between edible part and seedcoat of Pinus seedis a remnant of:

(A) Integument (B) Nucellus

(C) Wall of megaspore (D) Endosperm

17.. Female gametophyte in gymnosperm is analogous to which part of angiosperms?

(A) Carpel (B) Nucellus

(C) Embryo sac (D) Thalamus,
18. In dicot stem, vascular bundles are:

(A) Scattered (B) Closed

(C) Concentric (D) Arrangedin rings

19. Which of the following is an insectivorous plant?

(A) Cycas (B) Sunflower

(C) Cuscuta (D) Nepenthes

20. Which structure in embryo sacof angiosperms represent archegonium?

(A) Antipodalcell (B) Egg

(C) Synergids (D) Both eggandsynergids

21. Scutellum of maize is called:

(A) Cotyledon (B) Coleorrhiza

(C) Coleoptile .(D) Hypocotyle

22. Plants which prefer extreme sunlight are called:

(~) Halophytes (B) Heliophytes

(C) Sciophytes (D) Xerophytes

23. Which ofthe following is a submerged hydrophyte ?

(A) Ceratophyllum . (B) Utricularia

(C) Hydrilla (D) Lemna

24. Soil brought along with river water is called:

(A) Aeolian (B) Colluvial

(C) Glacial (D) Alluvial
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: 25. Chromosomes are concernedwith:

(A) Respiration (B) Growth

(C) Transmissionof hereditycharacters (D) Assimilation

26. Which ofthe following is not bounded by cell membrane?

(A) Spherosomes (B) Mitochondria

(C) Ribosomes (D) Lysosomes

27. Crossing over occurs at :

(A) Two strandstage (B) Fourstrandstage

(C) Threestrandstage (D) Onestrandstage

28. Stomata open at night and closeduring day time in :

(A) Mesophytes (B) Hyclrophytes

(C) Shrubs (D) Succulents

29. An inflorescence with branched axis is :

(A) Umbel

(C) Head

30. Casparian strips Fontain :

(A) Cutin

(C) Suberin

31. A prokaryotic cell lacks :

(A) Cellwall

(C) Cytoplasm

32. The two subunits of70 Sribosomes are:

(B) Panicle

(D) Corymb

(B) Pectin

(D) Wax

(B) Cellmembrane

(D) Nucleolus

(A) 50 S and30 S (B) 45 Sand25 S

(C) 50 S and20 S (D) 40 S and30 S

33. Gigantism and acromegaly are two defectsproduced due to improper functioning of:

(A) Thyroid (B) Pituitary

(C) Thyroidandpituitary (D) Thyroid,pituitaryandthymus

Male cockroach differs from female becauseof the presence of :

(A) Longantennae (B) Arnphids :

(C) Anal styles (D) Anal cerci

Which ofthe following cranial nerves in man is mixed ?

(A) Optic (B) Vagus

(C) Trochlear (D) Olfactory

36. Distance between two strands of DNA is:

(A) 20 A
(C) 3.4A

34.

35.

(B) 34A

(D) 340A
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37. Which one is not an essential amino acid?

(A) Leucine (B) Lysine

(C) Methionine (D) Alanine

38. The term protoplasm was coined by :

(A) Purkinje (B) Leeuwenhoek

(C) Schleiden& Schwann (D) Dujardin

39. Chiasmata are first seenin :

(A) Leptotene (B) Zygotene

(C) Pachytene (D) Diplotene

40'. During muscle contraction:

(A) Sizeof A-banqsremainsthesame (B) SizeofH-zone becomessmaller

(C) SizeofI-bands decreases (D) Diameterof fibre increases
41. Nerve transmission is :

(A) Mechanicalprocess (B) Chemicalprocess

(C) Biologicalprocess (D) Physicalprocess

42. The term heterochromatin was coined by :

(A) .Morgan (B) Heitz

(C) Warburg (D) Hammerling

43. Esterases belong to the category of :

(A)' Lyases (B) Ligases

(C) Transferases (D) Hydrolases

44. Respiratory mechanism is controlled by :

(A) Centralnervol;lssystem (B) Sympatheticnervoussystem

(C) ,Parasympatheticnervoussystem (D) Autonomicnervoussystem

45. An organism with two identical alleles is :

(A) Dominant (B) Hybrid

(C) Homozygous (D) Heterozygous

46. Tendon connects:

(A) Boneto bone (B) Bonetomuscle

(C) Muscletomuscle (D) Nerve tomuscle

47. In human beings 45-chromosomes/singleX/XU abnormality causes:

(A) Down's syndrome (B) Klinefelter'ssyndrome

(C) Turner'ssyndrome (D) Edward'ssyndrome

48. Nucleolus takes part in synthesis of:

(A) rRNA (B) tRNA

(C) mRNA (D) DNA
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49. Which one is not related to chromosomal abnormality ?

(A) Aneuploidy (B) Euploidy

(C) Klinefelter's syndrome (D) AIDS

50. Releaseof pancreatic juice is stimulated by :

(A) Cholecystokinin (B) Secretin

(C) Enterokinase (D) Trypsinogen
51. Head of humerus is articulated with pectoral girdle by a joint:

(A) Hinge (B) Ball andsocket

(C) Immovable (D) Pivotjoint

52. Hypophysis is the alternate name of:

(A) Pituitary (B) Thyroid

(C) Thymus (D) Pinealgland

53. Concave lens is employed to correct:

(A) Presbiopia (B) Hypermetropia

(C) Cataract (D) Myopia

54. Complete haploid set of chromosomes of a speciesis :

(A) Genotype (B) Genome

(C) Geneticcode (D) Allele

55. Plasmamembrane is made of:

(A) Proteinsandcarbohydrates (B) Proteinsandlipids

(C) Proteins,lipids andcarbohydrates (D) Proteins,somenucleicacidandlipids

56. Genetic codewas discovered by frameshift mutation by :

(A) Crick (B) Watson

(C) Franklin (D) Khorana

57. Which one is carrier of micro filariae ?

(A) Aedes (B) Anopheles
• (C) Tabanus (D) Culex

58. Kidney stone is produced due to :

(A) Depositionof sandparticles (B) Precipitationof proteins

(C) Crystallisationof oxalates (D) Blockageoffats

59. Universal recipient blood group is:

(A) A (B) AB

(C) B (D) 0

60. Net gain of ATP in glycolysis is :

(A) 6 (B) 2

(C) 4 (D) 8
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D
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D
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A
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D
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A
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D
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A
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B
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B
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D
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A
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C
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B

47

C

48

A

49

D

50

B

51

B
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A
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D

54

B

55

C

56

A

57

D

58

C

59

B

60

D

Note: An 'X' in the key indicates that either the question is ambiguous or it has

printing mistake. All candidates will be given credit for this question.


